Timed Extended Constructed Response (ECR) Task—Grade 3 October
3.0A.1

Name: Date:

PART A

Your class is having a pizza party. Your teacher orders 4 pizzas and each pizza has 8 slices. How
many slices is that altogether?

4 ¢ [ Enteryouranswer in the space provided.

PART B

Nancy has 6 packs of markers. Each pack has 10 markers in it. She also has 5 extra markers. How
many markers does Nancy have altogether? Show your work or explain your answer.

U Enter your answer and show your work or explanation in the space provided.
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ANSWER KEY
Rubric Part A
Score Description
1 Student response includes the following components:

e Computation component = 1 point
o Correct answer, 32 slices.

0 Student response is incorrect or irrelevant.
Rubric Part B
Score Description
2 Student response includes the following components:

e Computation component = 1 point
o Correct answer, 65 markers.
e Reasoning component = 1 point
o Student shows correct work or clearly explains answer.

Sample Student Response:
“Nancy has 65 markers. She has 6 packs and each pack has 10 markers in it.
To find how many markers are in the 6 packs, | multiplied 6 x 10 = 60. Then
she had 5 extra markers so 60 + 5 =65.”

e NOTE: A variety or responses are valid.
1 Student response includes 1 of the above elements.
0 Student response is incorrect or irrelevant.
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